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import numpy as np

def f(x):
X0 = x[0]
x1 = x[1]
f0 = np.exp(-x0) - x1

fl = x0 + x1**2 - 3*x1

return np.array([f0, f1])
def J(x):

X0 = x[0]

x1 = x[1]

df0_dx0 = -np.exp(-x0)

dfo_dx1 = -1

df1_dxe = 1

df1_dx1 = 2*x1 - 3

return np.array([[df0_dxe, dfe_dxi1],
[df1_dxe, dfi1_dx1]])

np.array([0., 0.])
res = np.linalg.norm(f(x))
print('%4s%12s%12s%16s'%('k', 'x0', 'x1', 'residual'))
print('-'*44)
while (res > tol):
print('%4d%12f%12f%16e'%(k, x[0], x[1], res))
delta = np.linalg.solve(J(x), -f(x))
X = X + delta
k+=1
res = np.linalg.norm(f(x))
if (k >= k_max):
print("Newton's method did not converge")

break

print('%4d%12f%12f%16e'%(k, x[0], x[1], res))



import numpy as np

def f(x):
X0 = x[0]
x1 = x[1]
f0 = np.exp(-x0) - x1

fl = x0 + x1**2 - 3*x1

return np.array([f0, f1])

np.array([0., 0.])
res = np.linalg.norm(f(x))
print('%4s%12s%12s%16s'%('k', 'x0', 'x1', 'residual'))
print('-'%*44)
while (res > tol):
print('%4d%12f%12f%16e'%(k, x[0], x[1], res))
x = x + f(x)
k+=1
res = np.linalg.norm(f(x))
if (k >= k_max):
print("Picard's method did not converge")

break

print('%4d%12f%12f%16e'%(k, x[0], x[1], res))
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